

$$(-r_2^+) \rightarrow \frac{r-2k}{\sin n} = \frac{r-2k}{0^+} = +\infty \rightarrow 0 < r-2k \rightarrow k < r \quad (9)$$

$$(-r_2^-) \rightarrow \frac{r-2k}{\sin n} = \frac{r-2k}{0^-} = +\infty \rightarrow r-2k < 0 \rightarrow \frac{r}{2} < k$$

$$\rightarrow [-k] = \boxed{-r} \quad \checkmark$$

$$1) a-b=0 \rightarrow a = \frac{b}{n} \rightarrow \lim_{n \rightarrow 1} \frac{b(\sqrt{r+\sqrt{n}}-r)}{b(\frac{n}{n}-1)} = \lim_{n \rightarrow 1} \frac{\sqrt{r+\sqrt{n}}-r}{\frac{n}{n}-1} \quad (10)$$

$$\lim_{n \rightarrow 1} \frac{\sqrt{r+\sqrt{n}}-r}{(\frac{n}{n}-1)(\sqrt{r+\sqrt{n}}+r)} = \frac{0}{0} \rightarrow \text{Hop} = \frac{\frac{1}{2\sqrt{n}}}{\frac{1}{n}} = \frac{\frac{1}{2\sqrt{1}}}{\frac{1}{1}} = \frac{1}{2}$$

$$\frac{\frac{1}{1r}}{\frac{1}{r}} = \boxed{\frac{1}{2}} \quad \checkmark$$